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H: D=0, vs Har B= 84

10.94 Supposethat Yy, Y,, ..., Y, constitute a random sample from a normal distribution with known
mean u and unknown variance o>, Find the most powerful a-level test of Hy: 02 = of versus
H,:0% = o}, where o} - o;. Show that this test is equivalent to a x> test. Is the test uniformly
most powerful for H, : 0% > o?
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10.105 LetYy,Y,,...,Y, denote arandom sample from a normal distribution with mean p (unknown)
and variance o%. For testing H : 0> = o against H, : 0> > o, show that the likelihood ratio

test is equivalent to the x? test given in Section 10.9.
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